Conversion Hexadécimal en Décimal (A)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Hexadécimal = 5 2. Hexadécimal = 1C
Décimal = Décimal =

3. Hexadécimal = 295 4. Hexadécimal = 6E
Décimal = Décimal =

g Hexadécimal = 377 0. Hexadécimal = 2FF
Décimal = Décimal =

T Hexadécimal = 2B8 8 Hexadécimal = FB
Décimal = Décimal =

). Hexadécimal = 220D 10. Hexadécimal = 1AK6
Décimal = Décimal =
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Conversion Hexadécimal en Décimal (A) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Hexadécimal = 5 2. Hexadécimal = 1C
Décimal = 5 Décimal = 28

3. Hexadécimal = 295 4. Hexadécimal = 6E
Décimal = 661 Décimal = 110

g Hexadécimal = 377 0. Hexadécimal = 2FF
Décimal = 887 Décimal = 767

7. Hexadécimal = 2B8 8 Hexadécimal = FB
Décimal = 696 Décimal = 251

). Hexadécimal = 220D 10. Hexadécimal = 1AK6
Décimal = 8717 Décimal = 6790
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